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[The figure in the margin indicates full marks. Candidates are required to give their answers in their own words as

far as prac cable.]

Group-A
(Mul ple Choice Type Ques on)
1. Choose the correct alternative from the following :

(i) After being rounded off to two places of decimals the number 8.1083 becomes which

(ii)

C?iii)

(iv)

Choose the correct answer.

a) 8.10 b) 0.11
c) 8.11 d) none of these

Identify the order and degree of the differential equation {%;—1} = ‘(1 - —jl)a
3 X

\

are
a)2,3 b) 3,2
c) 1,3 d) none of these .

Identify the value of_[ [ l}dx
X

a) [ 1] b) ( 1)
x——|+¢ - l+c
X X
c) ( 1] d) [ 1)
=== 1% x+—|+c
X X

1, 1
Identify that the general solution of the differential equation —‘:ﬁ- + x—j} =0
X X
contains
a) 1 arbitrary constant b) 2 arbitrary constants
c) 3 arbitrary constants d) 4 arbitrary constants

Paage 1 of 4

1x15=15

of the following option.



a) b) 1
] 2
4 !
3 @ none of these
4 o
(vi) e + .
0 Identify the value of J—Td\ =
&8 e
™o _
- O ik b) P X
S o x+e T +c xX—e"  +C
c 3 ) d) «
232 x—eF+c xe +c
52
2 4 Vi) | gen fy the value of_[ xe'dx =
s 8 a) xe” Hetyes b) 2¢*+c¢
@3 c") m _‘ct.,_cf d) none of these
’ Swre fifey :,
(viti) If :i- =— Wha ya-,].at x-2 then identify the value of x is
X
b). +1 - . Pl
(v) ﬁ‘%ﬁi@f‘s"d coins are tossed one after another , then idcraglgjﬁgﬁpmbablhty that one is head and other 1s tail is
(ix) .,m
Identify the value of I d\' =
a) . b) X -
e.’!tan' x 5
I+x :
S | 2. d) -
il eZtan o None of these
p)
(x) Examine the correct degree of the interpolation polynomial of a function whose values are known at 8 points is
a) 5 b) 6
c) 7 d) 8
(xi) Let A and B are two events correspondinz to a random experiment E _ If
PA:—-PB—: P(A+8
() (8) 5 and ( ) 2 .then identify the value of O
P(A B)=
a) | b) 4
5 5
¢ d) 3
6 20
(xii) : : . i . dv 1+,
Identify that the general solution of the differential equation — = —— s
& 1+x°
a) y= tan™ x+¢ b) x= -1 y+e
C A -
) tan(xy)=c d) yx=c(l+xy)

(xiii) For a given sct of values of x and f(x) , the interpolation polynomial is which of the following option.Choose the
correct answer.
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(v) Two unbiased coins are tossed one after another , then identify
b) not unique
d) none of these

a) Unique

c) has degree 23

(xiv)

In Trapezoidal rule for evaluating the approximat
approximated by the sum of arca of which of the

a) rectangle

c) trapezium
(xv) Choosc the degree of precision of Trapez

a) 1
c) 3

b

¢ value of %

following option
b) scctorial figure
d) nonc of these

oidal rule is

{Short Answer Type Ques ons)

b) 2
d) S

Group-B

> Identify the value of [ (% +x® +x®)dx

3. Two fair coins thrown. Identify the probability of getting both heads ?

4. Two fair coins thrown. Identify the probability of getting one head and one tail?

j dy 5
Calculate:=X = 8x*
dx

6. Calculate the mean

58.

the probability that one is head and other is tail is

x ¥x
'[f( ¥ . the area given by this integral is
Choose the correct answer

ARY

e
B!
3x5=15
(3)
(3)
@3)
(3)

from the data showing marks of students in a class in a test: 40, 50, 55,78,  (3)

OR

Evaluate the arithmetic mean of the following distribution.

(Long Answer Type Ques ons)

Marks 20- 30-39 | 40-49 | 50-59 | 60-69 70-79
29
No. of 5 11 18 22 16 8
students
Group-C

3)

5x 6=30

7. Two dice are rolled. Tell the probability that the sum total points on the dice will be 8 ?

8.

In a family t

Aveys KO L0010 52
. Blowsye nu!umi;“é

(5)

here are two children. Tell the probability that both of them will have different birthdays ?  (5)

dyv

(x=L-y)=

Iden fythesolu on:

€

X
¥

x
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10. Write the Mean of the following distribution

(5)

-181
x: TS8161 [ 162-165 | 166-169 | 170-173 174-177 ;’f@
f: 11 23 31 18 12
2 (5)
11. Evaluate the roots of the equation 2x° — 5x4+3=0
_using-Newton Raphson method?
l..alfv)ﬁ?_ -‘.’;!h’ N '.n., 2.
Firgyg g "
12. From the following table, evaluate f{0.16) using Newton’s forward interpolation formula: (
X: 0.1 0.2 0.3 0.4
y=f(x): 1.005 1.020 1.045 1.081
OR
(5)

Evaluate the following system by Gauss-Elimination
method :

2x, +3x, +2x; =2,
10x, +3x, +4x; =4,
3x, +6x, +x; =—6.
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